Verify True or False for Each Statement.
Also, Write The Correct Answer if the Statement
is False.

1. Rounding 5,642 to the nearest thousand gives 6,000.

2. Rounding 8,328 to the nearest thousand gives 8,000.

3. Rounding 3,211 to the nearest thousand gives 3,500.

4. Rounding 9,775 to the nearest thousand gives 9,800.

S. Rounding 4,987 to the nearest thousand gives 5000.

6. Rounding 7452 to the nearest thousand gives 7,000.

7. Rounding 2,899 to the nearest thousand gives 2900.

8. Rounding 6,720 to the nearest thousand gives 7,000.

9. Rounding 1145 to the nearest thousand gives 1,100.

10. Rounding 3,859 to the nearest thousand gives 4,000.




10.

Rounding 9,238 to the nearest thousand gives 9,200.

Rounding 6,524 to the nearest thousand gives 6,500.

Rounding 2,338 to the nearest thousand gives 2,000.

Rounding 7,867 to the nearest thousand gives 8,000.

Rounding 4,452 to the nearest thousand gives 4,500.

Rounding 1,753 to the nearest thousand gives 1,800.

Rounding 8416 to the nearest thousand gives 8400.

Rounding 5,279 to the nearest thousand gives 5300.

Rounding 2,015 to the nearest thousand gives 2,100.

Rounding 9,987 to the nearest thousand gives 10,000.




